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2. (25%) The ball of mass m and radius r rolls along an inclined plane for which
the coefficient of static friction is . If the ball is released form rest,
determine the maximum angle & for the incline so that it rolis without
slipping at A.

3. (25 %) .

The mechanism produces intenmittent motion of
link AB. If the sprocket S is turning with an angulay
acceleration o, = 2 rad/s” and has an angular velocity

@, = 6 rad/s at the instant shown, determine the angular
respectively, at this instant. The sprocket 8 is mounted
on a shaft which is separate from 2 collinear shaft
attached to A8 at 4. The pin at C is attached to one of
the chain tinks such that it moves vertically downward.

4, (25%)

A homogeneous circular eylinder which rolls without slipping. (f the cyhnder
mass is 100 kg, the cylinder radius 0.5 m, the spring constant 75 N/m, and the
damping coeff cient 10 N-s/m, determine (a) the damping ratio, and (b) the
damped natural frequency of this system.




